o P = e, = kAl
2017 IV ERHEEE SEENE

2017 International Mathematics Contest (Taiwan)

Bh=F4HE HE

X BEREEREERSEL

( B )L ite 2009° +3x2009° + 4018 2
2009 + 2009

(A)2009 (B)2011 (C)2012 (D)2013 -

x> +3x% + 2x x(x +3x+2) _
X2+ X X(X +1)

fEH: 5% x=2009 - R = +2=2009+2=2011 -

( B )2 2EA%R BRENABEE - HN<J/330+/34 <N+1 . BIN ZERM?

(A)19 (B)20 (C)21 (D)22 - N N’ JN 10N
33 1089 | 5.745 | 18.166

34 1156 | 5831 | 18439

BE M

J330=18.166 + V3.4 = 348 181‘(‘)39—1.8439

/330 ++/3.4=18.166+1.8439=20.0099
20<20.0099<21 - N=20 -

( D)3. MKE - PHEM ABCD A—85- FAP=3 - BP=6-CP=11" BIDP Z{&

B2 (A)79 (B) B2 (C)VOL (D) Vo4 - ’
<
AT Ao a D ~__
I8 P B6fi B4 TAT AD 81 AB N - °
a’+c?=9.......0 i it
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b%+c?=36.....0

b%+d?=121...®

©+®-@>a’+d?=DP =94 - DP=+94 . D -

( A )4 HE-AB-CERAEEMN=-EE SEEES B x°+x-6~2x°+x-15
2x%-9x+10 - BIEABEMVBETEI x B IERER - X2 ENGEA?
(A)-3 (B)-4 (C)-5 (D)-6 - A

B A=(x+3)(x-2) C
B=(x+3)(2x-5)
C=(2x-5)(x-2)
BETE = (x+3)(x-2)(2x-5)=2x3-3x-17x+30
( B )5. REEBREME—4EE 200 TwHIARRERR - BE—XTIE 500 - Hi%E
HHEEMLT B—XgVE 2 % - BEEINBRWALRE . AISHAFEIRE
MEZVITEL?
(A)40 (B)50 (C)60 (D)70 -

AR &RINE x 7T -
(200+x)(500-2x)=500x%x200
10000+100x-2x*=10000
2x%-100x=0 - x(x-50)=0 - x=50 B O(F &)
( C )6. E—EENRE SH—MER—T  —HER_T - ...... - BhAER - 8
—BELEIRE BEEEAIET 6T  MEERELER 15 WEXLR?
(A)9 (B)10 (O)11 (D)12 -

6
REMT DRGEERS - INEER AT - RMMBEEZBNEER, =158

15+1.5=10 - 10+1=11 - 11 B -EC-

( B )7. E=&5IMEIE 123 - 5AHIEA 103 - 14 1510 - Bt EEEIIHEFR /D
18?7 (A)18 (B)20 (C)22 (D)24
f247: 103=123+4Xxd - d=-5
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n|246+(n—1)x (-5 151
[ (2 )x(-5)] =1510 . (n-20)(5n-151)=0 - n=20 % 5 (&)

( D )8 MAEE - EOM¥EAR3 B OABWHEAIr - BMESKEMEENESR

E#E)E507

\\\

3 3
(A)Eﬂ' (B)37Z-—\/> () 372'-5 (D) 37[-—\/>
R
4A0|3:3327:r =120° . y AO =3

/DOA =120°+2=60° . OD 1 AB

( C )9. m&uHE - L,//L, . AB//CD//EF . ED//BC//FG - Al
A+ 2+ 3+ 4+ /5=?

(A)375 (B)405 (C)435 (D)465 E -

BEAR:

MEREF XL, H - BFFRRAR £6
. £6 =45 E(FA)>

A+ 72+ L3+ L4+ 5= (L+ L2)+( L3+ L4)+(£6+30°)
=180°+180°+45°+30° =435°

( ¢ )10. #MNAE ABCDEF BIE/NER; - ABIHG RIERIER - ABJK RIEA - AABP

BIE=AF kK A-£2+/3=7 E D

K
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(A)36 (B)30 (C)24 (D)18 E -

Rt £3=90°-60°=30°

_ 180°x3

L2 -90° =18°

_180°x4 10go—120

/1

Frk=12-18+30=24 § -

( A )1l M#&E- MWiER ABCD - AB=AD - /BDC=-A=90°.BD=12 -
CD=5.%@E - £2 - L3KNE&E@E?
(A) £3>/1>/2

(B) /1>/2>/3

(C) £2>/3>/1 2 90"
(D) £3>/2>/1

gt AB=CD . /1=(180°-90°)+2=45° 3
BD>CD . /3>/2 YN /2+/3=90° C
/3>45° . /2 <45°

( ¢ )12. @ ESRABCD & -E-F-G-H 5 RIEAD - BC L1y8 - EG - FH
&IESH ABCD HEE « Z - =& - ¥ EF = DF - BiEHFHNEESR 40 - 4B

A
90

FERNAERS 28 - BEEHKZMWEBERS? A 3
(A)18 (B)20 (C)24 (D)28 ¥ FFEfI -

fRA: B

2 AB=x . BG=20-x . GH=CH =14—x F =
AB=BC . x=20—x+14—x+14—x - H
4x=48 . x=12 D A C

GH=CH =14-12=2

ZEE=12%2=24

( ¢ )13. M&ME - S5 ABCD %—#f - AD=x . BC=6 . DE=h . Hehx
BESE - h BIEEE - ZHR ABCD WEHES 18 - 8l x+h=?
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(A)5 (B)6 (C)7 (D)8 -
R
(X+6)h
=
D> (x+6)h=36=1X36=2%x18=3x12=4X9=6X6
XBEFH - h BIEEE - x=3 " h=4
x+h=3+4=7
( D )14. mABE . AABCH-D-E-FARIZEAB - BC - AC k- HIWiEH ADEF
B%R - #BD=2 . AD=5 . BIAC =? P

15 25 27 35 F
A5 BF Q%5 D)5 - 3

18

Sl

BT C
BE:EC=BD:DA=2:5 .

AF:FC=BE:EC=2:5 .

5-FC=2:5 . E:% , AC=AF+FC=%
( B )15. AERA 24 s RA/MARMIER A R HERNRA T - M ERZ LB A/
MIEF A RFEEIELEERR AT ANBEIRAH - IRV ERERIELSFER?
(A)48 3& (B)54 3& (C)72 3k (D)96 3k
R

R:E=6:4=3:2

A 3ME . 3%x3=92%X3=6
9x6=54 3R

( B )16. #1%E - ABCD BFTIUEf . AB=3.BC=4 . B4 E & BC 2t .
AE 8 BD 48351 F - AABF E#: 32 CEFD Eig=? A o
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(A)1:4 (B)2:5 (C)3:7 (D)4:7
BT
O AAFD ~AEFB - AF:EF =AD:BE =DF:FB =2:1

2 1 1
® AABF = gAABE EfE= —AABC Eff=  FIMEA ABCD B

1
ABEF = ESFFIIE]?%% ABCD H&
== 5 4= ‘E oA == E i
CEFD E#= 1, FATINiEH ABCD Bl - ¢ 175 =25 -

( C )17. MAE - H¥%E O ks . IS AABCIBEAABC . OA:0A'=2:5
AB:BC:CA=4:3:2 . 2AB=16 2% - BIAAB'C YBEEZ/DIA?

(A)70 (B)80 (C)90 (D)100 g
R LT ’ "
AABC ~ AAB'C Otz -
AB//AB > O0A:OA=AB:AB=10:4=5:2 i

252=AB":163 A B =40

Y AB:BC:CA=4:3:2

o-'—c-ﬁ—4o:3o:2o

B'C'=30 . C'A =20

YAA B C BE=20+30+40=90 -

( C )18. EBEEBAENEE—EFKE EHAC=6AR -BECDAB4AR -
% AB #1AC Ry%ef 5 90° - ZADC 75 90° - BIE KB ESFEIE# 28 BC AoIERE
RZVAR? A

(A)7(B)8 (C)9(D)10 AR -

@t «BAC=90° . AD L BC
AC’ =CDxBC - 36=4x BC

BC =9

o+
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( D )19. &E. LEAC 5 AABC Z2—4&. AD £4 LEAC .B ZAB =90°.
AC=9.BC=12.E/BD =2

J )
(A)12(B)18 (C)20(D)30 - A=
R B
AB = /9% +12? =15 9
E AD ¥5 ZEAC D

Sy o

AB:AC =BD:CD
$15:9=(12+ CD):CD
5 CD=18 - BD=BC +CD =12+18=30
( C )20. tN&E - E5% ABCD - B O £%E CFBHEE .  BEESREBD -
CD#EEIRE-~ CFi% - EAD =4 . CD =3 . Bt HE LB B E?

3 3 5

(A) 7 B)1() 5 (D) 5 - A D
L

AT SR E A . BD=V3’+4% =5

OE=0C=r . OB=4-r B~ ) #

YDE=CD=3.BE=5-3=2

(4-ry=r>+2%, F=g .

( D )21. Calculate the exact value of 42-2x%(8-3)="?
#FE: T42-2%(8-3).1 FtEHIEME(E?
(A)200 (B)100 (C)23 (D)32
BEAT: SETREREMR - ERELM - X =42-2%X5=42-10=32 -

(A )22.Which tank will fill up (i
first? \J A \
.| B

#lE M —EE Ktk m? |J

(A)F (B)G (OK (D)H
. |f
L

=

BEHr: D A H #41E - INERELL L
= PR LEEEEK LEERAF -
PRIAF E5cimKA -
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(A )23.Figure out the following number laws:
14%2=21
20%4=75
36%9=320
40%10="
(A)396 (B)386 (C)376 (D)366 -
R
14%2=14X2-14+2=28-7=21
20%4=20%X4-20+4=80-5=75
36X9=36X%X9-36+9=320
40%10=40%x10-40+10=396
( D )24.1%1000 Z2& % - 1% 3 BIfSEEL 4 BIfSEI 7 BILLIO K ABIFEZR -
1 20A 50 7A0 1010131404517 @194 6 2
23 R 25 26 ...........
503 A BA 9 EEOHMIBHASES ME?
(A)164 (B)165 (C)166 (D)167 4 -
BB (34)=12 - B12BAEMERF 24
1000+12=83.....4
2xX83+1=167# - ED -

( B)25.A-B-C-D-ERASNMEH - moH107  BOREH -
A:TEA4H9ME - .
B: "BRE&ESS - .
C: "2 AMDRFELS -
D: "#=E 5 BARFE -
E:"REGAFE_S - HHECZ25 -,
aaE B1SES? (A)7 59 (B)84 (O)94%4 (D)10 4 -
fEth: HB~C-~D - E&X&&
(1) A=4 - 5 D<4 - Al D %{B% (D AulgE=E 5 EARIF19)
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(2) A=4 - #D=A=4 - HIC= A;D =4
X ELECZ 24 EIES 64) - Bl D Rulse2 5 EAMFLY -
(3)1R#(1)(2) D>A=4 - 5 AX/NDB>E>D>C>A

(4)A=4 . C= A;D = 4+2D 3D 2EH

0% D=10>F&(C4 B &5)
Q% D=8 c=A_;D=$=6 " ELtEC%24% - E=8

2
2>B=5X6-(7+6+5+4)=8.. 75 - &EB -

— . itERE(EE 25 D)
1. t5E 7 AABC o . iz AD - BE #8%5i H- B #/BAC =75° . ZABC =45° .

(1)5k ZHBD SR /DE? A
(2):2 BC =5 - R AD B9E? E
(3)&t&: ABDH = AADC

BRI B 5 C

(1) £C=180°-45°-75°=60° .
ZHBD =90°-60° =30°

S — = X
= = = CD = —
(2) :2AD=BD=x=> 3

NETRA ' (1+L)X=5 , @)(25 , X:M
J3 J3 J3 2
(3) $BEE: /l=.,2=90° . ZABD = /BAD =45° . |
BD =AD . X /HBD = /3=30° .
3 ABDH = AADC (ASA) 2N
. 12 60\
SD/
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2. As in the right picture, ZA=90° in AABC, there is a circle through a

point A, the center of the circle on AB and tangent with BC , if

BC = 10, AC = 6, the area of the circle?

HE=naE . AABCh . LA=90° . 5—E@B AL - B/LEAB
+EEBC#t] - 2 BC =10 - AC =6 - RItEERE?

AR

{£ Z/ACB HFE5H %33 AB i O
B0 EOD LBCi D

IO BEL - OD BEEEE O
= AABC & . LA=90°

AB =BG -AC’ =107 -6 =8
2 O f9¥@=r. OD=0A=r
X AABC = ABOC + AAOC

6X8_10xr+6xr
2 2 2
OmE=3"7=9r1 -

Bl » 24=5r+3r
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